## Anx B - Work Completion Report

Company	M C Modi Eduacational Trust		N. C.	T		at 11			
			Name of contractor	Prasad chowdar	<u>y</u>	Sl. No. site		506	
Project/site			Nature of work	Civil	Civil Dt. site bills reg.		ls reg.	18-11-2025	
	CA		Work done from date	20-10-2025					
WO no.			Work done to date	15-11-2025					
WO date			Contractor bill no.			GST bill required?			
Sl. No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	Amount
	MCMET								
1	North East staircase 1st-4th floor								
	Fire Doors-2 no's	Lentle beam casting (2"x	7		144.00	sft	RCC103	40.00	5,760
		Brick work	1		192.00	sft	CW126	13.00	2,496
		Plastering			384.00	sft	CW130	16.00	6,144
					- 5				
	^								
	3								
					7	otal amou	nt including taxes f	or work done	14,400
Remarks:	IE						-		
Approved by	y project manager Q		Approved by QS team			Approved b	by Director/E&D tea	ım	
Sign:	Sign:		Sign:			Sign:			
Date:	A Reference to the state of the		Date: Date:						
Notes: 1. This sh		. This word form must be typed. 3. Use	this form even if work order is not	issued. 4. Attach measu	rement and estimat	e sheets only if	required i.e., details cannot	t be entered above. 5.	For bill amount
greater than 10k	QS manager and directors approved to the first of the first of the lamount I (for NGH + NRX). 8. Entry of the ID mandatory. 9. This sheet	ess than 10k any QS team member may:	sign and in place of director sign o	f respective F&D member	er to be taken 7 D	irector include.	Sohom Anond Makes (Co	- CUT CMD) Can	hi- (C XE
bills at HO (can l	be sent by courier).	must be sent mann 2 working days of w	ora completion (with or without ex	inaciors onl). 10. Conti	ractors to send scar	inea copy of bil	I to site and QS by email. I	1. Contractors must	submit original

bills at HO (can be sent by courier)

ESTIMATE SHEE	T				,	Approve	d By	
Company Name:	Manilal Modi Memorial					Sai kumar		
Project:	MCMET							
Work Description:	Civil							
Prepared By	Praveen.K							
Bill Date:	17-11-2025							
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks
	MCMET							
1	North East staircase 1st-4th floor							
	Fire Doors-2 no's	Beam centering, rod bending, concreting (9"x9")	144.00	sft	40.00	5760.00		
		Brick work	192.00	sft	13.00	2496.00		
		Plastering	384.00	sft	16.00	6144.00		
							14,400.00	

MEAS	UREMENT SHEET				_				
Company Name: Manilal Modi Memorial				Approved by: Sai kumar Reddy					
Project	t:	MCMET		Sign:	Sign:				
Work I	Description :	Civil		Work	Work start date: 20-10-2025				
Contra	ctor:	Prasad chowdary		Work	Work end date: 1		15-11-2025		
Prepared By:		K.Praveen		Date :	Date :		18-11-2025		
			A	В	C	D	E=AxBxCxD	F	G= Sum of F
S No.	Item Head	Item Description	Length	Width	Height	No's	Quantity	units	Item Head Total
	MCMET								
1	North East staircase 1st-4th floor								
	Fire Doors-2 no's	Beam centering, rod bending, concreting (9"x9")	6.00	3.00	1.00	8.00	144.00	sft	
		Brick work	6.00	1.00	4.00	8.00	192.00	sft	
		Plastering	6.00	1.00	4.00	16.00	384.00	sft	

## Labour Charges Prasad chowdary MUHARPALLY Hyderabad

Date: 21-11-2025

In favor of:

M CModi Educational Trust

Project/Site:

**MCMET** 

Location:

**MUHARPALLY** 

Type of Work:

Scaffolding

Towards:

Labour Charges

S.No.	Discription	Amount
1	Breif discription of work: Towards fire door lentle beam	
	casting, brick work and plastering work	5,760.00
	Total amount: 14,400.00	

Amount in words: Five thousand seven hundred sixty rupees only/-

Sign:	
·	

## Allowance For Consumables Prasad chowdary MUHARPALLY Hyderabad

Date: 21-11-2025

In favor of:

M CModi Educational Trust

Project/Site:

**MCMET** 

Location:

**MUHARPALLY** 

Type of Work:

Scaffolding

**Towards** 

Allowance For Consumables

S.No.	Discription	Amount
1	Breif discription of work: Towards fire door lentle beam	
	casting,brick work and plastering work	2,880.00
	Total amount: 14,400.00	

Amount in Words: Two thousand eight hundred eighty rupees only/-

~ .			
Sign:			
OIZII.			

## Allowance For Equipment Prasad chowdary MUHARPALLY Hyderabad

Date: 21-11-2025

In favor of:

M CModi Educational Trust

Project/Site:

**MCMET** 

Location:

**MUHARPALLY** 

Type of Work:

Civil,RCC

Towards:

Allowance For Equipment

S.No.		Amount	
1	Breif discription of work:	Towards fire door lentle beam	
	casting, brick work and plast	5,760.00	
	Total amount:	14,400.00	

Amount in Word: Five thousand seven hundred sixty rupees only/-

Sign:	